Assignment

o Represent the complex number 2 = -1 — ¢

in polar form

Ans) z=—-1—1
4 = /(-1 + (-1) = V2
tan¢=|%|=‘: ’— = 1 = tan45°
T
T4
So, argument = T_ T = .
4 4

z =1 (cos @ + isin0)
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2) Cons:der the complex number z= =
—1i

i Express zin the form a + ib.
i Find the modulus and argument of z
iil. Represent Zin the polar form
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_ii.'z='0'_+'i -

r-lzl-— 02+12—1

- - Modulusof z= -1 . - .

-z represents the point (0 1) l1es on the posmve 1mag1nary ams.

.
.Hence the argument is 5

". Modulus of z=1and Argument of z= % |

ii. .~ The polar form of z is 1 (co's—z— +isin -;‘-)



